XoX 71"7 '01 R,2v naw .7"'02

Rather is it not so; the — MIZRM IRWS KOOI ;77T ITIAVI RO IND KON
beginning is by idolatry and the end by the other Mitzvois

OVERVIEW

The X713 concluded that the X of the Xn»92 (which stated Mix»n Rw» nawa )
is discussing 1"v,! and the X2°0 (which states nawan nM¥» IXwa 2IN) is referring to
all other mx» (not 1"¥). Our MdOIN discusses alternate solutions for the Xn>"2.

n1voIN asks:
= NN INYA NI NIPITT PN 139299 N1

The 59 is astounded! For let us establish the entire Xn>72 by other mx» (not
T"y) _

= HNN NN 2990 1RT 2N P LAY 1D MNN INYA 19 PRY 11 INNDY
And what is the meaning of the Xv"9, ‘that it is not the same by other nix»’; for
instance if he slaughtered a 7277 and sprinkled its blood outside the 771y, he is

only 2%77 one 1217, however by naw he is 2>n for each 738 -
= HNN NOVYY 2INON INVUY *NWYN OV (3,15 pr1a3o) HNNIN 23T TNN 7993 39%aN 9INTD

As 2R ruled in nuan 5397 AR P9 that when the 770 wrote 'mwyn aw' (there

you shall do) the verse made 777°71 77U’ nW one action and you are only 211 once -
- 69591 NVINVYA HNYNIY) 53957 N7 51997 9133 ¥HaN 23

! Regarding naw there is N19%%n 717°1 and one is 271 for each oKX separately (in a case of MIX9M2 MW Nawa 7177; he
was not aware that these NMX?1 are prohibited on naw); however by "v if he served it in many ways (nnR n2yn3; he
was not aware that these mmay are MoR), he is only 217 once.
27-3,7 (X)) XpM reads, 20K 00D PR) T.7I007 PR ©IY WK IR 730032 TV IR 2D IR W 00w R DRI 1020 UOR UOR A
1Y 27pn RITT WORD N2 TR BT RINT WORD WD 07 0)T 19Wn 197 1112 1279 2907 W02 X2 7yin. This is the MoK of
77 0INw. In 0-11 P09 there it states, 98] 0 .27 IR 79 ARP? WK 021N TN WK 3T 121 PRI 02 WK UOR MRA 079K 1
YRYD RITT VORI N2 M7 0K Nivy? 1uRe2y 89 7vin 99K nna. This is the Mok of yIna o°w7p napa. The yina apor 100K
is derived from one of these 0’2105 (see footnote # 3). For each of these m 2y (if they are done separately) there is a
separate 1277 2vn. However if he did them both Tn& 09912 he is 211 only one (not like naw where he is 21 for each
TOR7N).
3 5Rvnws " (in P70 there) derives the MO of 7IM2 7p>1 from the words 79w a7 (in '7 7109, see footnote # 2), which
is part of the 0’100 regarding 12 M nw. Therefore according to SXynw M if he was X 02vma PN MW he is 20
only once since they are both derived from the same 2°p105. However &2°py " derives the Mok of yim2 7P 1 from the
word "R' in 'm P09 (Mar W 77W), which is a different MR from 7VNW, nevertheless aX maintains that even
according to ¥", he is 2°11 only once for 1R 0%v772 7P Twnw. See following footnote # 4.
4 The P09 in 7,2 (AR7) @727 writes T¥A 21X WK 23 7wyn ow) TN 79yn ow. The 7wyn ow encompasses all the
details in 12997 napn (including 7PN 7w nw); they are considered as one. See *"wn there AR 7"7 for further
clarification.
5 X"9 disagrees with »ax regarding ¥ in a case of 7> 7w nw and maintains that he will be 21 twice since they are
two 010X (see footnote # 3), and X" does not agree to the w7 of 7vn ow.
¢ According to >" that P> is derived from 75w 07 it is in the same 2’200 as Y1 *0INW, therefore he is 21 only one.
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And even %728 'Y who argues with 2K, agrees that according to 3''% by nuwnw
TP -
= P9) NP 1NNT HNN NN 2991 19INT 7Pt ANDYNA NIYPY 2290

And according to ¥ by mp> 1 A8®w7 (in both these instances) he is only 21
one 1277, for they are both derived from one 205 —

moon explained the X of the Xn*>12 that 0°10°R IRW2an N2w2a M (meaning 0 *0INY) where
there is only one 2111 for PN [w W (or IR?YM 7p°71), when it is done X 0%vn3, however by
naw there is a 127 20 for each 72872, Now mooin will explain the X9°0 of the Xn>92 that v
nawan o*I0°K XY in the case of 1M3nn K92 2w, also by yin svnw.®

= DOVYTP DY INNRENI PN WY 598 151 PDIN 1NN VINYD 1INV 1) 19951 NI W)

And the case of Man» X%2 aw, where he is MX» IRW2 21 but MWD on Naw, is for
instance if he intended to be vmw2 a M cow and he needed the 11 cow, and it

turned out to be [another cow of] 2327, in which case he would be 21 for yIn "0INW -
- 92909 X812 HYIvn PINNY 1191 nava Annad

Where in a similar case by naw, if he intended to cut [this] @v»n and it turned

out to be [another] 22 -
= 1319593 229NN NINDNT MVOT VIYNY NIN 7298 N0 XD

But he only needed the @»n in which case he would be a5, for we require
Nawnn NaRYA, and this is not nawn» nax» for he only intended for w1n.

nBoIN answers:
- 19999951 N52 NHYY 295 NIV NVIT ¥IYNT 251 SWHIIDT 11810 NIT 910 U

73" derives 711 NP 1 from X that is in the same P05, which state 1121 W 791w 797 *3, therefore he is 2°°1 only one for
IR QYA ARV AP
8 The point of MdOIN question is to establish both the X and the ®9°0 of the X012 with the same m».
9 The n"a7 MAxT amends this to read, 2w 8% DR NRYAN (instead of W NRIMAN).
19 npo1n is trying to find parallel cases of 11302 X2 33w by 71 *0INw and NAw. A 71507 K92 MW means (not a regular
MW, where he is not aware that what he is doing is MR, but rather) he is aware of the Mo°X, however the act which
he intends to do is not an Mo°X, but it turned out (accidentally) to be an Mo°K. By v "vnw this is realized in a case
where he intends to be 7172 121 vmw (that’s what he needs) and accidentally he was 7172 vmw another animal which
was ow7p. The same case by naw is where he wants to cut ¥12n, but he accidentally cut another 721, A R92 2w
1207 is sometimes referred to as poynn.
' The 127 mman amends this to read, X1 AR 7217 X3 77 w120 (instead of K21 72177 XA WI7N).
12 However by 71 *0nw there is no requirement that it must be Nawm» NoX97 in order to be 2°°1; only by naw is there
the requirement of Nawn» N3R7 in order to be 2°1. See previous MX1a 7"7 'o1n TIE footnote # 9 for an explanation
of nawnn nax7n.
13 In any event it seems that we can establish both the Xw>1 and the X9°0 by v *vInw; why is the X3 choosing to
establish the X1 by 1"V and the &2°0 by 2%1?!
14 y95nm K92 2w indicates that it is not like a ‘regular’ 3w where he knows (for instance) that he is 9212 w9, but he
forgot that it is Mox (or that today is naw), however 11901 X722 3w means that the 3w consists of a 12nn X?; that he
did not intend to do the work that he subsequently did,
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And one can say that we cannot explain the X9°0 in this manner, for it would
seem that he is 992 on naw (in the above mentioned case), only because he was

A without 7ans -
= NAYNN NINDN AT PRT IV 9NN 921NN N¥MI 1597 92101 19903 199X NI INNST

And in such a case (where he is 1501 &) the rule is that even if he intended to
cut this 2272 and it turned out that he cut another 222 he is also 21wp, for this
is not a nawnn» noxY” —

mooIN anticipates (and responds to) a question on his answer: '®
= IHNY NN TIOND 7598 NYAY 1D INAYNMD NYYIYI 99917 933 MIPIND NI

And we also cannot establish the Xn>72 that we are discussing a case where his

intent was fulfilled, for instance that he needed to cut what he actually cut -
- 1752109 NINY N8I VIZN XINY 9120 1PNV NON

However, he thought that the item which he is cutting is @190 and it turned out
to be "2 -

mooIn rejects this question:
= NIN 129D 9133 IO 073 RON TYNRN NAY PP IV YON 1EXINY INNDT 912919Y NID XN

We cannot say this; for if he is 902 regarding naw in such a case because of the
?100 of 712 Xur 9N he will also be 91v2 in a similar case regarding Y "vnw.

15 mpoin is asking why are you saying he is M9 only because of 1120 K72 2w (he had no intent of doing an MoOX),
indicating that if he was 1m5nn for an Mo°R, he would be 211 on naw, but this is not true, for even if he was 7112nn
Mo°K? and was M7 another MO he is also Mo, The Xn>>12 however stated that the X211 of 210X RW over N2AW is
(only) by 11onn 822 2w, and in this scenario, which '01n suggested, he would be w9 by naw even if he was 11201
We must therefore conclude that the parallel case of v *0Inw by naw is not what the Xn»"2 had in mind.
16 The x> establishes the cases of 1501 891 23w by 291 where he thought it was 11w and it turned out to be 257; he
is 21, however by naw if he was 1217 XITW RN Y207 DR TINA? 11901, he is wd. [In this case we obviously cannot
say that he will be 15 even if 12171 R¥H 121927 DR IR P1o01 (which is ludicrous) as we asked previously.] nooin
is asking now, let us establish the case by v\ 01w in a similar manner to 12w X¥aN 291, meaning that he thought
this animal which he wanted to eat was 1711 and it turned out it was 2°w1p, where by i *v1n2 he would be 2°11 and
by naw (if 121mn XA WP NN 11501) he would be Mo (because it is not nawnn NoX»; see footnote # 20) .
17 This would seemingly be a case of 11307 892 2w (for he had no intention to cut 9211), where he is M.
18 The 3"773 by 1 "vnw would be if he thought he is being 1271 VMW and it turns out this 7273 is DWTp.
19 See footnote # 20 for an explanation of the word 'ox'.
20 The 770 writes in 33,7 X7p>) that 72 R@R WK INRYD PR Y7i7 X, according to ¥R " (in X,0° NN™>) we derive
from this 7109 the w5 of povnn (which is the cases we are discussing). However yw17° " disagrees regarding this
709, rather he maintains that poynn is Mo only by naw because of nawnn nax, but not by other o*Mo°x. When
mooin asked that we should establish the cases of 22 X3 WIPNT NX IR 11901 it was according to °"1 that the
o will be only for naw. However in his answer maoin is saying that according to X" who derives the 7o of
Poynn from Xon WK (which is written for all 2>110°X, not naw specifically), therefore if he is MW on N2w he will also
be Mo by v "vINW, since po¥Ny is a universal MwD. However by the case of 1w R¥n1 297 there is no s of povnn
since the rule is 77371 19w 21 NIV @292 POYNA.
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mooin asks a final question:
= I8N ANV NDID NIPIDT AU NIY 1N

However there is still a difficulty, for let us establish the entire Xn»72 by =Nw
DIXN; not by 1"V -

- 225y Ana NYAM NNNAN YY XN 990 NN Y299 9919 ¥293 29
For instance where he sodomized a male and was sodomized consensually by a
male, or he performed bestiality with a cow and had the cow perform

bestiality on him -
- HNN NYN 290 1N N2PY 299 10aN 22495 12) »aNY ad

In which case, whether according to 928 or according to X', he will only be 21

one 1277 according to ¥''9, whereas by naw he is 271 for each 798%n. This explains the v

M2y IXwan nawa (by 157 20w and/or A¥aTT), now we can also explain the nawan MR IWRwa 7 -
= 1A RVN TYNN NAYA 90997 929V 0PN’ 1719510 NJA DY RNYM

And now we can properly establish the case of 1Man» K92 33w where he is 2D

on Naw because we derive it from XV WKRM -
1313 19V 259195 RY 2N19¥ 532 ZNAYNN NOUSIY 1))

Where for instance his intent was completed; however regarding ny»aw (the 2own

731 or 7¥277) he will not be mwp, since he derived pleasure from the forbidden act.
mooIn does not answer this question.?®

SUMMARY
We cannot establish the ¥n»92 by v *vnw. However we seemingly could have
established the Xn»92 by 7121 Now» or 7vaIn.

THINKING IT OVER

Why cannot we establish it by yi1 *vInw where he intended to be VMY one 127p
713, and he accidentally was vmw a different 3279 (where he is 217), and by naw if
he was IR 22 TNM AT 2 TN 1501 he is Mo ??

21 The n"271 mian amends this to read, X2 9157 19 XYY 587 ¥ X2 120 (instead of X271 72717 DR Y271 019 ¥271 130).
22 The double 2 Mo°X of 737 20wn (either he was M1 %¥ X2 or another 727 was X2 on him) and 77277 (he was either
Y217 or ¥2131) are each derived from one p109, so even though in this case he committed both m7°ay there is only one
129p 2.
23 He was intending to cut a wY2n and it turned out to be a 72, He was 11201 X to do 119X97, so even though he did
what he intended he is still 215 because of Povnn (or N2WIH NIXN).
24 He intended to be %¥12 his wife and it turned out to be a 737 or a M.
25 The rule is 7371 19 21 N1 0°2212 poynan (see 2,0° N2 and footnote # 20), similar to 297 R¥A .
26 See Xw™ 71"7 2,20 11730 M2OIN (and NR NOw who offers an answer).
27 See 0"mn.
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